
Parts List

DESCRIPTIONPART NUMBERQTYITEM

Motor Heat Sink Housing 4.5"3891611

Fan End Bell3890412

Fan, 5"3891213

Fan Shroud3891414

Stator, 3 Inch 48 VDC3893015

Drive End Bell, 56C3890016

Rotor, 3" 56C3893617

Wave Washer, 40 MM3976018

Junction Box3890619

Junction Box Lid35908110

Motor Base38910111

Silicon Insulator Tube37760112

10-32 X 1 Flat  SHCS, SS20700815

Screw, 8-32 X 1/4 PHP, SS21575416

Bearing Sealed, 620311050217

Screw, 10-32 X 3/8 PHP SS20680418

Screw, 8-32 X 5/16 PHP SS21625319

Bolt 10-32 X 1/2 SHCS, SS21550220

Terminal Block, Double Row, 3 Circuit16130121

Screw, 8-32 X 5-1621600522

Screw, 8-32 X 1/2 PHP, SS21610423

Snap Ring, .625 SS38945124

1

1

2

2

3

3

4

4

A A

B B

C C

D D

TITLE

SIZE DWG NO
REV

SCALE SHEET OF

DRAWN

CHECKED

QA

MFG

APPROVED

Motor, Brushless DC 56C
2 HP 48 Volts

26560
1 1 

 

C

SunPumps, Inc.James C. Allen 1/3/2012

 
 

  

  

 

15

6

5

20

18

11

17

1

16

12

9

21

23

10

22

7

17

8

2

2

34

19

24

Model: BLS SF-203C-48


